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PHYSICS 10" %{ _

Total E'Vlarks: 65
A. B & C. Section A mustbe returned Lo
you have not attempted any, question.

[

- —

'. ~ Time Allowed: 2.30 Hours |
I Note: Tlhere are three sections of this paper i.c. Sechion
the Superintendent within the given time. Even i

iR S L SECTION-A

g o
e Allawedld: £ 5 Minutes Marks: 12—
i Attemipl all the questions in this scction. Each question carries one mark, Seleet the correct

Cer A3 and put in the empty Box.

e ratio of the size of the image 10 the size of the object is called: I
(A Digmeter (B) Curvature (C) Magnification (D) Diopter

wv Tune period of Second’s Pendulum is:
L0 1 See (B) 2Sece (C) 3 Sec (D) 4 Sec

‘ i ‘The smallest value of the angle of Deviation is called:
(A) Critical Angle (B) Angle of Deviation
(C") Angle of Minimum deviation (1) Angle of Prism

\ s ) Value of K in Coulumb’s Law is equal to:
(A} 6.67x10™ Nm¥Kg? (B) 9.11x10" Nm™/Kg’
(") Favxio™ Nm“’fl(g [D]‘}xlﬂq Nm“’a‘Kgl

] U he umit of Power ol a Lens 1s:
: () Newton (B) Wau (C) Divpter (D} Jouic

ln o reflection, if the value of angle of incidence is equal to 307
ien the value of angle of reflection is equal to:
CAYAT (B)45” (C) 60" (D) 90"

i b Far Sightedness, the image of an object is formed on cyes retina:
{ %) Belore (B) Behind  (C) Above (D) Below

() Power (B) Principal Focus (C) Optical Centie (D) Aperture

i e Reeprocal of the focal length of alens s called:
s

oy leetrieal Torce is then the Gravitational force
(A Cirenler (3) Less (C) Equal (D) Na relation

L a solid conductor body, l'orms a gas

cav) ree eleetron (1) Proton  (C) Neutron (D) Both proton & Neutran

f L Alpha particle’s are present
A One proton (B) Two protons (C) 3 prowons (1) 4 protons

u) 11 the ebject is placed al Principal Focus (FF). then its mage will form :11:( l
CVEALTETB) AT Q) Al wE and 2O (D) At inlinite distance

/1




PHYSICS 10" fi

§ " j SECTIONB & €
Time Allowed: 2.15 Hours Total Marks: 53
coivs Altempt Section B and C accordmgly. I f
SECTION-B
T Marks: 32 <
sates Allempl any eight of the following questions briefly. All questions carry equal marks.
| : i What is meant by magnification of Spherical mirror? Also write down the lormula for
| nenilication of an object.  A¢. A
vy Paplam the resistance of a conductor.
| = vy Laeline lenses and explam their types 788
' el Dehine the following terms: 1
(o) Vibration {(b) Amplitude {e) Time period () Frequency
o) Prove that =4 e 3
ot Wi nltrasonic waves arc nol heared”? i?}
v Delme Electrie ficld and Electric held mtensity,
vind Iarerentiate between Direet Current and Altermating Current.
sio Wiete doswen Tour properties ol o nugne!
0 Vo down the Radiation Hazards
) PaulTerentiate between Newr-Sightedness and Far-sightedpess, Aldso gpve icasons
SECTION-C
Muanrks: 21
_ sertes Atternpn any three questions. Each carry equal nurks
% | 1a) Fxplam with diagrams, the change that occurs in the position. siz¢ and nature ol an
\ image, when the object is brought closer to the concave minor /4, & {4)
-~ 1) | he radhius of Curvature of a concave mror s 48cm. An object 1 placed ata
Jistance of 30em from it. The height of object is Sem. What avill b the position, size
died matane of the image formed? Y. 4 (3
' g Deline Simple Harmonic Motion: Write dowan the equation and € hargetershies of
g M 12 B
i) I'he length of a pendulum of eity wateh is Tm. The watch measures coreet reading
Lo, Hs e period is 2me Find oul the vidue of acceleration due to gravity s (3)
al ) Prove a formula fora thin Conves Lenste | = 1 = 1 (<]
Il’ f.‘ gr
(1) i object of height dem s placed in front of a concave lens of focal lengdn Tlom, 1

the distance of objeet is 15em. then find the distance ol image, s ste and natur, |

(q',gg

AP Deline Olim's Low and write its equation =
(hy  ocurrent of 1077 Ampere is passing through o wire ealenlate the munber of cleetion
Vel e passing inone second through its cross-section (3

27
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W MODEL PAPER MATHS 3‘ {
g : CLASS 10™ ;

Time Allowed: 3 Hours . Marks: 75

Note: “There are THREE sections in this paper i.c. Sections A, B and C. Attempt §ectin.g-A
on the same paper and return it to the Superintendent within the given time. No mark will be
awarded for Cutting. Erasing or Overwriting. Marks of Identification will lead to UFM case.

Mobile Phoue ctc are not allowed in the examination hall.

Section-—A.
Time: 20min Marks: 15
Ql. Write the correct option i.e. a, b, cord in the empty box pravided opposite to each part,
; 3 .
1 X-— + Y18
Y

(A) A Monomial  (B) Binomial (C) Trinomial (D) Not a polynomial ;
ii. Solution set of x =-6 wherex€R s

(A) {6) @ e} (©{) (D) {~¢6} _'

- §ii.  x varies inversely as y when x =4, y = 6 then the valuc of y when x = 121is ___
(A)8 (B)4 (C)2 ® 6 |
a_ ¢

iv. b d, thenad=bcis called
(A) Invertendo property  (B) Alternendo property  (C) Componendo property E
(D) Dividendo property
v,  Eliminating t from x-t=0, y= t' we gel
(A) =y B)¥=y" (©x=y Ox=y [ ieny
vi. I Anangle inscribed in a semi cirele is - )
- (A) Obtuse angle  (B) Right angle (C) Acute angle (1) Mone of these I—:

vii.  Ifstandard deviation of a series is 9, then its variance is . .
(A) 8] ' (B) 3, (C) 18 (D) None of these. |
viii. The mean of 5 observations is 25, its sum is —
(A) 125 (B)5 (C)2.5 (D)5 L
ix.  Solution set of x*—3x=01is —
(A) ) @) 13} ©f3 ) -3 L—
% A triangle will be right angled triangle, if measures of its sides are B
. (A) 6 cm, 8 cm, 10 cm (B)2 cm, 3 cm, 5 cm (C) 6 cm, 3 em, 4 e ‘:
xi. A linc segment having both end points on a circle and not passing through the cenire is
called —
(A) Chord (B) Secant  (C) Diameter (D) Naone of these r—
«ii. A circle touching sides of a triangle internally is called e
(A) Circum circle  (B) Inscribed circle (C) Escribed circle (D) All of these |_,
xiii,  Sin30"=
(A) Tan 30° (B) Sec30’ (C) Cosec 60° (D) Cos 60° il
xiv. An equation having two rools is called i
(A) Linear (B) Cubic  (C) Quadratic(D) None of these [—
xv. How many points determine a plane? E

(A) 1 (B) 2 c) 3 (D) None of these



Marks 36
" Note: - Aftempt any nine parts, Each part carries four marks.

?EGTION---B

Time 2:40Hours for section B & C

f

Q.2.1, Solve the [ollowing equation and verify the answer

il

v, =

vi,

vil.

Viil,

®xl,

X1,

5 - 4
2x-3 3x-1
Think of 2 number, add 5 to it. Subtract 7 from double of the sum. Answerais 9. Find the number
you thoughz. -
Solve the following where x € {1,2,3,4,5,6)
Following table shows the age of teachers in a secondary school.

Calculate median from the data.

Sx+6=16

Age [ 26-30 31-35 36-40 41-45 46-50 | 51-55
quuenu_y 4 5 13 16 8 5
| =
: . i 4 7 2 3
Solve the following with the help of quadratic formula  —+ e 4
.}I J' }

- E ] 3
Eliminate 2 (rom v =u + al, s = ut+ 5 at

Volume of pas. ¥ varies inversely as P
P=300 N/iv* when V=4n1". Find pressure when V=3m"
Solve ir+2++/x 4

Vierz-dx |1

oo

a e
If b / then prove that each of the fraction is equal to

la+ mc + ne

Ib +md +1if

Prove that scc’® = 1 +tan’0

Find the trigonometric ratios of 30°

Solve the {ullowing triangle whenm £ C = 90"

ms A=31"b=0

SECTION---C
Marks 24

Note: - Attempt any Three questions. Each question carries eight marks,

Q3.

.4,

Q5.

Q.6

The sum of the measures of any two sides of a triangle is greater than the measures of the
third side.

The measure of the central angle of a minor arc of a circle is double in measure of the
inscribed angle of the corresponding major arc.

Construct a A ABC when mAB = d4em, mBC = Sem and mCA = 5.5cm. Draw thie nedians
of the triangle.
Construct a triangle having sides 2.5 c.m., 4 c.m, 5 cm, and draw its circum cirele.

1€



Seral Noo Of Answer Book

Rall No. (in figure} \

Roll No. ( In words)
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................................ BISE ABBOTTABAD
) r'{'DLL HUMEEH MODEL PAPER CLASS 10TH Supdi}Sign & Seal
' - BIOLOGY
- Time Alloved = 4132 kg’ ML,_; .5
i NOTE® There are lhree sections of lhis paper. Carefully read the instructions for each seclion and auemm
= accordingly. Attempt all questions of Seclion-A and relurn it o the Superintenden! within gnfen lime,
| -even il you not have not altempted any question. Select the correcl choice and wrile only A, B, C or D,
| 4 e whmhev of is appropriate. in the answer box -
E -
o
b 65 SECTION-A
o] :
| 13 40 Timemluwau- 15 Minutes MAX MARKS: 12
T‘._'[ ] 1. - - !
iR S 1. - The. dili'usmﬂ of mulecul&s of some substances wilh the help of energy is called: [A) osmosis,
|r' 3 g k& E] achue transpﬂﬂ C) Iacihtaled diffusion, D) passive Iranspor]........cmmmssmmmsees
:'_. |! _I. ; I'; B ) "-'I'
i_. i % ” ,12; .Tha !unctrun af blood pialelals is: [A) to produce antibodies, B) lo phagocylose the bacleria,
i Q -;1-'_'_" v C] tn clni the h]uud j}} lo’ carry P (e e
P e ct
v, '1' !| } r | r =
é_;‘ ) f %‘ 1, Which Is not found in DNA? [A) thymine, B) adenine, C) uracil, D) QUANINE] ... coee s ecasimsinmissssiss
£y s Accarding to Lamarl-: the organs which are used more are: [4) betler developed. B) less developed,
: . C) completely lost,: D) remained same]... BiGsiil - L 3
| 4 5 -A network of all the feeding relaliuns.hips in an ecosystem Is called: (A) a foud chain, B) a food web,
i , ;;}; ..-:'G}atmphu level, D) energy flow] .. — Yj
2 A) deforestation, B) demountalion,

7.

|

| ]
‘g . :E,.
: 8.
¥ 10.
£
*’ 1.
fie

| &

| 12.
R
= Y
e <
TEppk s
TAL-3

N
el P

| S

ry ¥ ."i’.:"-' A,
;?;E_.';."}i- "jﬂ_‘-a--\.-\L—-*-"-_L ety

B W
= L.
e e

[

7S 7;"-: Whlch one of the following is the main cause of soil erosion? |
*C)air pnhulmn D) waler pollution]....

The sensilive layer of the eyeis: [A) choroids, B) sclerotic, C)

- The depression in the cenlre of lhe concave side

Basic structural unil 0

The lymph vessels are: [A) open tubules, B) like arleries, C) like veins, D) biind ended wubes) ..o

teting, D) COmea) ...

of the kidney is called: [A) loop of henle, B) hilus,
I DI R e—————EEEEEEE

B) euglena, C) volvex,

\Which organism moves by means of pseudopodia?  [A) paramecium,
0] =14 15| p————— RS

is known as: [A) posilive geolropism,

Movement of rools towards the force of gravity
D) positive DNOOIOPISMY . cocievenivsimmssssssaisasss

B) negalive geolropism, C) negalive pholotropism,

{ DNA is called: [A) nucleoside, B) nucleolus, C) nucleus, D) nucleolide].........

I3




- M 3 BISE ABBOTTABAD
. . MODEL PAPER CLASS 10TH '

L | BIOLOGY
L]
e Time Allowed: 2 Hours 15 Minutes
Marks - G5 SECTION-B

I : : ; Max. :
1, Allempt any eight of the following short queslions. All carry equal marks. e

. “. i, Differentiate between open and closed circulalory system. 2
- ' il Define metabolism and describe its types. 1%
“+ . i, What Is transpiration and name factors affecting transpiration. 1=

" W Differentiate between "tendon” and *ligament’. 4

" v, Whalis *reflex action” and draw a diagram “reflex arc’. 1§

»

S v
B it

vi.  Wrile shorl note on nilrogen fixation.

A .y Differentiale belween "hypogeal an "epigeal’ germination. /&

vii. Define the lerms "genctype” and ‘phenotype’. 17}

'+ Whal are "vesligial organs™? Give two examples of vestigial organs found in human body 1€

«  Wrlle short note on green house efiecl. 20

'+ 4i. Whatis symbiosis and distinguish belween commensalism and mutualisni ! q

SECTION-C

Max. Marks: 21

T
[

NOTE: Allempt any three of the following questions. A queslions carry equal marks.

) Whﬂl are blood groups? list four "ABOD’ blood types and name the binod group which |s
universal donor. 1%
Define excretion and summarize methods of excretion in plants. i3

3.0 Write chort nate on Iropic movement and describe ils three kinds. 14
| Draw aneal and labelled diagram of human eye i
b : _ )
A 4 i Define asexual reproduction. Also describe the major lypes of asexual productions in 74
/s animals.
% i, Define and explain Mendel's Law of Segregation. | 7

5. 1. Explainthe theory of evolulion by natural selection as proposed by Charles Darwin. /%

i Define ecosystem and descrite the roles of bilic components of an ecosysiem. /g

Y
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|| Serial No. OF the Answer Book

Roll No. (In figure )

¢ ( lnwords) ;
. : I _ FIC NO.. {].*?l.‘,_lf__{lﬂ_-lt..'t' use only ) 8|
| B A . !
& FIC. No.(For oflice use only) 4 =1

| e
Model Paper Chemistry ( Class 10" )
s T em— Total Marks: 65
"Timee Allowed: 2,30 Hours

| s 1- el i j i
.. .f‘_'-'ﬂh-- IherE are three scclions i.e, A, B, C, of this paper. Attempt cich section according (o given instructions
PART-A Muarks: 12
Attempt all questions of this par e
¢ : Mis part a 2 g : ; ; :
part and hand over the paper to the superimtendent alter @ Minutes-cven if

| you have not attempted any question. Over writi i i
4 . riting. delucing : . -ohibi :
| will be awarded 1o such answers. & g and cutting ete are prohibited and no credit

Time. 13 Minutes

(.1, Choose the correct one i.e. AB,C,D and write it in cmpty box provided in front of each
Question.
(i) AEdible oil can be converted in 1o vegetable ghee by hydrozenation in the presence ol a catalyst,
A) Fe 13) Ni C)Co 1)} /n L__|
(ii) Hydrogen is a strong =
| , A) oxidizing agent  B) dehydiating agent ) redueing agent 1) blenching agent, Lj
(i) © Water has maximum density 1.00 gm/em’ al
A) 27 B) 3" ) 4¢” PR J ]'
(iv)  Carbion s« member ol group I: o
Ay i\ By 11 C) IV Ny v | _]
() Metallic oxides are i
AT Basic 13) Acidic C) Amphoteric 12y Neutyal ! I
(vi)  Nitrogen o Tound in free state in air e
A) 21 % B) 78 % ¢) 30 % 13) 35 " ]
(vii)  Monocline sulphur is soluble in o
A Wanter 13) Beneen ) Carbondisulphide 1) Tl [ ]
(viii) Bleaching sowder conliin | R
A) Flourine  B) Chlorine  C) Bromine 1) lodine Lo ]
(ix)  Hematite s an ore of :
A) lron 13) Copper C) Aluminin 12) Magnecium [___J
{x) General tormula Tor Alky] is e
e ‘-"""-.] CH ”1!!' ; ”J ICIll”ln-] C} Cullzy 12) Cad |’|-'| |z
(zi)  The pereentige of Mathune in natural gas e e
A)SE%  BYT0O%  C) 037 % D) A% L __J

(aii)  The By-product obtained in the manulacture of soap is — e
A) Glyeenine B) Glyeol ) Ethylen glycol 1) Acetic acid | = |

—————————

=




Sy
Ferog, b W
v i
e 8| q Id Ih -t :
Chemistry 107 & -
Noute: Time allowvd fur sectivn B and C is 2 hours and g minules~__
- w _‘*""'—-n...,.___
LR H dq-.-\_\-‘-
- PART - 13 Marks ; 327
1} Q. 2. Note: Atlempt any eight of the [ollowing: each carrics 4 mirks,
| | : (i) How tarbon monoxide cun be separated from hydrogen gas. @
; (ii)  Calcium garbonate is insoluble in pure water.why does it dissolve in rain

i waler. 4
(i) Write the chemical property of carbon as & reducing agent with foug
examples.
(iv)  Write four uses ol ammonia. (1

(v)  What is oxide write the name ol Touwr ;!.&tu!uq.@

(vi) Namesome of the common sulphide and sulphate vres.
(vii) Write chemical equation to show reaction ol cone sulphuric acid with
| ; (a) Sodium corbonate (b)) Copper (€) Hydrogen sulphide (<) Chsaliv avid
. (viii) Give industrial preparation of bleaching powder.
' (ix)  Why pre-concertiation ol'ore is carried out.
(k) Wil the chemical Tormula of the following
{a) dauxite (b) Cryolite () DButune (d) Tellon
(x1)  Whitis homologous series @ Name the hamuologens series ol alhanes,
(xi1* Deline soap. How it is manulactured. @

»

Scction- € Varks: 21

! MNote: Attenipt any three ol the following . Fach canries 7 ks,
|
f £ 3 Wiite the laborotary preparation for Hydrogen gas Gy e chgmical @
! Propertics of Hydrogen. 7
Iﬁ Q. 4: Whit is oxidation and reduction.Bestibe the vsihizing aclion ol e v il
will metats and non-metals. (T 7
Fl' B S T Describe the contact process or mansacie of Spprhuie acid sl How sheed
| _ diaginm, 7
! (). 0 Write notes on the Tollowing:
! (i) Refning of Copper. 2
(i)  Peunolium. i )
: (i) Plistics 2
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